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status

* sample:ZJOW~ZJ7W,ggFH125,VBFH125
* key name:
JetContainer:AntiKt4 TruthJet
AntiIKt4EMTopodJet
TruthParticleContainer: TruthParticle
same with
PhotonContainer:PhotonCollection?
* run 5000 events in each sample as a test
* no Jet Validation/Calibration packages



reco eff

deltaR<0.1
p1>25GeV,
leta|<4.5

leading jet ptin ZJOW is
smaller than 25GeV

P( reco jet | truth jet)
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reco eff

P( reco jet | truth jet) P( reco jet | truth jet)
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* No events in several bins



pileup fraction

o . truth jet pT<80GeV . .
P( pileup jet | reco jet ) Jetp P( pileup jet | reco jet )
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pileup fraction=unmatched reco_jet/all reco jet
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pileup fraction

P( pileup jet | reco jet)
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rejection rate of hard jet.

P( unreconstructed truth jet | truth jet ) P( unreconstructed truth jet | truth jet )
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rejection_rate=unreconstructed truth_jet/all truth jet
=1-reco_eff



rejection rate of hard jet

P( unreconstructed truth jet | truth jet )
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rejection rate of hard jet

P( unreconstructed truth jet | truth jet )

P( unreconstructed truth jet | truth jet ) 0.9
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truth/reco jet pt
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0.45F P oME
0.4 :_ " reco jets pT o ~ reco jets pT
c [ 0.12 - [
0.351 i
E AR<0.1.p >25GeVIn|<4.5 0 1— ++ AR<0.1.p >25GeV nI<4.5
0.3 2 o "
g — .
0.25F- 008 + 4 +
- = i -+
02F s 0.06— 2 B
- —k - Th +t4
0.15F -
o g 0.04— +++
0.1 - “+
E - -+
0.05 == t —— 0.02 _— e
- B - =
O_Illlllllllllllllll||IIII|lIII'-|-|'-|-|-|lllllllllllIII)(103 0lIIIIlIlIIIlIII|III|I|IIII||Illl_f_\—l—llll><103
0 10 20 30 40 50 60 70 80 90 100 0 20 40 60 80 100 120 140 160 180 200
Iml jet_pt m jet_pt
0 T truth jets pT - T truth jets pT
o £
0.08 :_H ~ reco jets pT 0.07 :_+ ~ reco jets pT
C I = I
0.07 T r t
- 0.06—
o AR<D.1.p >25GeVIn|<4 5 i AR<D.1.p >25GeVni<4 5
006 * F
= 0.05 4
0ost i =l :
E % 0.04F
0.04— &
S 0.03f
0.03- +H C o4
. B TR -
- Tt 0.02F %
0.02 + + ¥ ot E
C ++ et Fphpt bk - +H¢ it 'b
F ot [ o R AT
0.01— Fity 0.01 B At *4' Hh
E ++... +- E W«"m«.‘mm'm’*‘*‘“‘ "fr»#' Ll + )
O_IlllllllllllllllllI|IIII|IIII|IIII|II|III"}°1-1_L.Il_.II)(103 o_llllllllllllllllllI|IIII|IIII[IIlIlIIII"""‘--I.»J..I_III)(103 =
0 50 100 150 200 250 300 350 400 450 500 0 100 200 300 400 500 600 700 800 900 1000
m jet_pt jet_pt

H



truth/reco jet pt
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truth/reco jet pt
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quark/gluon fraction

| ow i paw faw piaw fsw o

quark 14 34286 100954 171131 237638 279419 298232 305291 17101 71016
gluon 8 90799 252316 483860 734775 879527 978041 1015678 47702 36539

ratio 175 042 040 035 032 032 030 0.30 0.36 194

« TruthParticle:pdgld()=[-6,-1],[1,6],21
« pI>25GeV,|etal<4.5
 how is TruthParticle related to Jet in AOD?
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jet responce
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« 2D plot leading jet pt vs diphoton pt
* use leading and subleading photon to reconstruct Higgs.



to do list
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